The Twenty First Russia Open, High School Team Programming Contest
St Petersburg, Barnaul, Almaty, Thilisi, Kremenchug, December 12, 2020

Problem J. Straight

Time limit: 1 second
Memory limit: 512 megabytes

The tournament of generalized poker is going to start! The tournament uses a special deck. It consists of
cards that contain integers from 1 to n. Every number has infinitely many occurrences in the deck.

There is only one hand in generalized poker: a straight. A straight is a sequence of m cards that contain
consecutive integers: 4,7 + 1,...,4 4+ m — 1. The rules of poker are the following: each player has s hole
cards, and there are m community cards. Each player therefore sees s +m cards and tries to choose m of
them so that they formed a straight.

You are watching the tournament, so you can only see community cards. You wonder how many distinct
straights are possible with such community cards for some hole cards. Two straights are distinct if they
start with different ¢ value.

Input

The first line contains three integers n, m and s (1 < n < 101 <s<m< 105) — the maximum value
of the card, the number of community cards and the number of hole cards.

The second line contains m integers, each from 1 to n — community cards values.

Output

Output the number of distinct straights that can be potentially obtained by the players.

Examples

standard input standard output
10 5 2 5
71356

11 6 2 0
555555

Note

The first example has the following possible straights: 1, 2, 3, 4, and 5.
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